	CW Keying interface (see K1EA's CT9 User's Manual, page 17/18)
Morse code is sent by keying the DTR line of any of the four serial
communications port, or the STATUS line of a parallel printer port, 
LPT1 or LPT2. The circuit needed to key positive-keyed radios from 
COM1 or COM2 is a 1K resistor from DTR (pin 20 on a DB25, pin 4 on 
a DB9) to the base of an NPN small signal transistor (for example, a 
2N4401 a 2N3904, etc). The emitter of the transistor and the ground lead
of the transmitter keying cable are connected to signal ground (pin 7 on 
a DB25, pin 5 on a DB9). The collector of the transistor is connected to the 
transmitter keying cable (hot, not ground side).
The circuit needed to key positive-keyed radios from LPT1 or LPT2 is a 1K 
resistor from SLCT (pin 17 on a DB25) to the base of an  NPN small signal 
transistor (for example, a 2N44401, a 2N3904, etc.). The emitter of the 
transistor is connected to Strobe (pin 1 on a DB25). The ground lead of the 
transmitter keying cable is connected to signal ground (pin 18 on a DB25). 
The collector of the transistor is connected to the transmitter keying cable 
(hot, not ground side).
	


 

